Multiply and Divide by 0.01 (H)

Find each product or quotient.

0.9 x0.01= 3.6 +0.01 =
0.9285 = 0.01 = 7476 X 0.01 =
8.3891 +-0.01 = 2.3988 - 0.01 =
99 x0.01 = 4.3 x0.01=
5.79 - 0.01 = 3.9025 - 0.01 =
488 + 0.01 = 7.91 x 0.01 =
8.638 = 0.01 = 0.83 - 0.01 =
5.209 x 0.01 = 1.776 X 0.01 =
0.66 ~0.01 = 2.81 x0.01 =
6.38 - 0.01 = 0.42 = 0.01=

Math-Drills.Com




Multiply and Divide by 0.01 (H) Answers

Find each product or quotient.

0.9 X 0.01 =0.009

0.9285 + 0.01 =92.85

8.3891 + 0.01 =838.91

9.9 X 0.01 =0.099

5.79 - 0.01 =579

488 = 0.01 =488

8.638 +~ 0.01 =863.8

5.209 x 0.01 = 0.05209

0.66 +0.01 =66

6.38 +~ 0.01 =638

3.6 +0.01 =360

7.476 X 0.01 =0.07476

2.3988 + 0.01 = 239.88

4.3 x0.01 =0.043

3.9025 + 0.01 = 390.25

7.91 x 0.01 =0.0791

0.83+0.01 =83

1.776 X 0.01 = 0.01776

2.81 x 0.01 =0.0281

042 +0.01 =42
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